

<u>AGENDA PLACEMENT FORM</u>
(Submission Deadline – Monday, 5:00 PM before Regular Court Meetings)

Date: $07/03/25$	Court Decision: This section to be completed by County Judge's Office
Meeting Date: <u>07/14/25</u>	Johnson County
Submitted By: Rick Bailey	
Department: Precinct 1-Road and Bridge	(*(APPROVED)*)
Signature of Elected Official/Department Head:	Commissioner's St.
Rick Bailey	7.14.25
Description: Consider and Approve to Repurpose the Leanner Area with a Budget Transfer for Reimburs	•
(May attach additional	sheets if necessary)
Person to Present:	loss the item is on the Consent Acondo)
(Presenter must be present for the item un	
,	PUBLIC CONFIDENTIAL
(PUBLIC documentation may be made ava	ilable to the public prior to the Meeting)
Estimated Length of Presentation: minu	tes
Session Requested: (check one)	
Action Item Consent Worksho	p Executive Other
Check All Departments That Have Been Notified	l:
✓ County Attorney	☐ Purchasing ✓ Auditor
☐ Personnel ☐ Public Wo	rks
Other Department/Official (list)	

Please List All External Persons Who Need a Copy of Signed Documents In Your Submission Email



COST ESTIMATION - Chip Seal Jail Parking (Cover Twice) Johnson County - J 3400 FM 1434 Cleburne TX 76033

Johnson County -Precinct 1

817-202-4101

| Rick Bailey, Commissioner | rickb@johnsoncountytx.org

CUSTOMER

Jail Parking Lot

ESTIMATE NO

Jail Parking Lot

DATE

7/7/2025

QUANTITY	UNIT	DESCRIPTION	UNIT PRICE	AMOUNT
8		Chip Spreader	\$144.90	\$1,159.20
8		Distributor	\$144.90	\$1,159.20
8		Bobtail	\$92.46	\$739.68
8		Bobtail	\$92.46	\$739.68
8		Bobtail	\$92.46	\$739.68
8		Bobtail	\$92.46	\$739.68
550	Tons	Pea Gravel	\$10.00	\$5,500.00
12000 Gallons	Gallons	AC-10	\$3.29	\$39,480.00
			SUBTOTAL	\$50,257.12

THIS PROPOSAL INCLUDES THE CONDITIONS NOTED:

Prices of materials may change depending on vendor.

\$0.00
\$50,257.12

Sign Below to Accept Quote:

Authorized Rep Date



COST ESTIMATION - Jail Parking Lot Johnson County - | 3400 FM 1434 Cleburne TX 76033 Precinct 1 | Rick Bailey, Commissioner | rickb@johnsoncount

| Rick Bailey, Commissioner | rickb@johnsoncountytx.org

Jail Parking Lot

DATE

7/7/2025

UNIT	DESCRIPTION	UNIT PRICE	AMOUNT
Hours	Blade w/operator	\$144.90	\$2,608.20
Hours	Heavy Truck w/operator	\$104.88	\$3,146.40
Hours	Heavy Truck w/operator	\$104.88	\$3,146.40
Hours	Heavy Truck w/operator	\$104.88	\$3,146.40
Hours	Heavy Truck w/operator - Precinct 3	\$104.88	\$1,048.80
Tons	Hauled on: 5/19, 5/20, 5/28, 6/3, 6/5, 6/17,6/18	\$9.50	\$27,668.37
	Hours Hours Hours Hours Hours	Hours Blade w/operator Hours Heavy Truck w/operator Hours Heavy Truck w/operator Hours Heavy Truck w/operator Hours Heavy Truck w/operator - Precinct 3	HoursBlade w/operator\$144.90HoursHeavy Truck w/operator\$104.88HoursHeavy Truck w/operator\$104.88HoursHeavy Truck w/operator\$104.88HoursHeavy Truck w/operator - Precinct 3\$104.88

SUBTOTAL	\$40,764.57
TAX RATE	
SALES TAX	\$0.00
OTHER	
TOTAL	\$40,764.57



COST ESTIMATION - Jail Parking Lot Johnson County - | 3400 FM 1434 Cleburne TX 76033 Precinct 1 | Rick Bailey, Commissioner | rickb@johnsoncount

| Rick Bailey, Commissioner | rickb@johnsoncountytx.org

Jail Parking Lot

DATE

7/7/2025

QUANTITY	UNIT	DESCRIPTION	UNIT PRICE	AMOUNT
12	Hours	Blade w/operator	\$144.90	\$1,738.80
10	Hours	Roller w/operator	\$104.88	\$1,048.80
14	Hours	Heavy Truck w/operator	\$104.88	\$1,468.32
14	Hours	Heavy Truck w/operator	\$104.88	\$1,468.32
14	Hours	Heavy Truck w/operator	\$104.88	\$1,468.32
14	Hours	Heavy Truck w/operator	\$104.88	\$1,468.32
750	Tons	Base: Hauled on	\$9.50	\$7,125.00

SUBTOTAL	\$15,785.88
TAX RATE	
SALES TAX	\$0.00
OTHER	
TOTAL	\$15,785.88